Demo watchpoints.dem
First demo

Plot title: plot FOO smooth cnormal
watch y=.25 watch y=.50 watch y=.75

Watch 1 target y = 0.25 (1 hits)
hit 1 x 50.6 y 0.25

Watch 2 target y = 0.5 (1 hits)
hit1l x 63.6 y 0.5

Watch 3 target y = 0.75 (1 hits)

hit 1 x 68.3 y 0.75

Find threshold values on a derived curve

1
plot FOO smooth cnormal
watch y=.25 watch y=.50 watch y=.7
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Same plot with auto-generated watchpoint hit labels
1
plot FOO smooth cnormal
watch y=.25 watch y=.50 watch y=.7
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Second Demo

Plot title: plot FOO smooth cnormal
watch y=.25 watch y=.50 watch y=.75
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Watch 1 target y = 0.25 (1 hits)
hit 1 x 50.6 y 0.25

Watch 2 target y = 0.5 (1 hits)
hit 1 x 63.6 y 0.5

Watch 3 target y = 0.75 (1 hits)
hit1 x 68.3 y 0.75

Variables beginning with INTERSECT:
INTERSECT X = 167.511137525825
INTERSECT Y = 20.2444312370877

Find and mark intersection of two curves

(o]

'silver.dat' using 1:2
"using 1:($0+5%3)
Intersection at [167.5, 20.2]
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Third demo

Plot title:

Watch 1 target x
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using (FresnelC(t))

(8 hits)
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Find y intercepts of a parametric function
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Intercept labels constructed from WATCH_1 array values
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Hit 2 at y = 0.7120
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